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B.E./B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.
SECOND SEMESTER
ELECTRICAL AND ELECTRONICS ENGINEERING
EE 25 — CIRCUIT THEORY

(Common to Electronics and Instrumentation, Instrumentation
and Control Engineering & Computer‘Science and Engineering)

(REGULATIONS 2008)

Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A — (10 x 2 = 20 marks)
1.  Define Kirchoff's voltage law.
2. Distinguish Power and Energy.

3. A voltage source is represented by a 100V independent
source in series with a 10 ohm resistor. Convert the
voltage source into an equivalent current source.

State Norton’s theorem.
State the condition for resonance in series RLC circuit.

What is Q factor of a coil?
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Define transient response.




[image: image2.png]8. Write the expression for determining time constant of RL
and RC circuit.

9. The readings of two wattmeter used for 3 phase power
measurement are 5.2 KW and - 1.6 KW. Determine the
power and power factor of the load.

10. Draw the voltage phasor diagram of balanced 3 phase
gystem. .
PART B — (5 x 16 = 80 marks)

11. (a) Find the power delivengd by batteries shown in
figure. / (18)
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() Write the/nodal equations and determine th
currents in each branch for the network shown it
figure. (186




[image: image3.png]12. (@ () Find the maximum power transferred to the
load Zr of the network shown in the figure. (10}
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(i) Explain the s}ar to delta transformation. (6)

Or
(b) State and explain sﬁperposition theorem and Verify

the superposition theorem for the current through
(16+j12) <} branch as shown. (16)
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An RLC series circuit consists of R=16 Q, L=D mH
and C= 2 nF. Calculate the quality factor,

bandwidth and half power frequencies. (16)
Or

1f mutual inductance is 63.75H, couphing coefficient
is 0.75, self inductance of the first coil is 37.5H then
find out self inductance of the second coil. 16)

Determine the expression for transient current for
an RL series cirenit connected to 2 DC source. Draw
the current response. (16)

Or

An RLC series cireuit with R=10 @, L= H and
¢=01 uF are wrmected through 2 gwitch to a DC
source of 10 volts. Determine the current transien
response when the switch is closed at time £=0. (16

A three phaseé balanced Y connected 1oad of (5+38)
is comnected across a 400 V, 3 phase supp
Determitie the phase currents, line currents aI
power in each.arm. 1

Or

Explain two wattmeter method for three phe
power measurement for star connected load 2
Jelta connected Joad.
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